™ m=xiEg

/7 k KREBRXEREABERATNIEBII2026F58KETER > TRV ET,
SHT7TESA2281RE

x--BHEHS A---BTHE K---KEB
20254%F B A x x x &aFd 8 A x kA eFde A x k x 238 A x k x 248 A x k x 2 e A
5H 1 24 5 6 7 8 ol 11 12 13 14 15 16 L] 18 19 20 21 22 23 P2} 25 26 27 28 29 30§}
H=—IL .xxxxxx. xxxxx. xxxxx. x.
BR=E .xxxxxx. xxxxx. xxxxx. x.
6H i 2 3 45 6fglle o 101 12 13f015 16 17 18 19 20§} 22 23 24 25 26 27 & 29 30 B
m—JL | X X .xxx .xAAﬁt . X X xx.x .
BTRE X .x X .xAAﬁt . X X xx.x .
78 1 2 3 afle 7 8 9 10 1B 13 14 15 16 17 18] 20 21 22 23 24 25 Pf 27 28 20 30 31 [
w—IL x.x . %K x. xxxx.xx .
BR=E x.x . *® x. xxxx.xx .
8H 13 4 5 6 7 s flio 11 12 13 14 5[] 17 18 19 20 21 22 fE] 24 25 26 27 28 29 [E a1
H—I 3 K B B * B 222 x x|
mra < lix o B+ MW csox<H
9H 1 2 3 4 s 7 8 9 1011 1214 15 16 17 18 19 L) 21 22 23 24 25 26 [f7] 28 29 30 B
R—JL A .x .xA x. X .x .
BR=E A .x .xA *® x. x .x .
108 1 2 35 6 7 8 o 10fff) 12 13 14 15 16 17[ff) 19 20 21 22 23 24 [P£] 26 27 28 29 30 31 [
R—JL A.xAA .xx 7S x.xx x.x X xx.
BR=E A.xAA .xx t* x.xx x.x X xx.



20254
118

=L
BERE
128
=L
BERE
2026 4E
1H
R—JL
BrR=E
2H
R—JL
BrR=E
3H
R—IL
BrRE
47
R—IL
BrRE
5H
R"—IL
BRE

B A xkkxeFle A xkxkxeFle B xxkkxefle s xkxxeEle A
BN 2 3 4 5 6 709 1011 12 13 14 16 17 18 19 20 21 P3] 23 24
.xx X X .x X X X " x.x
.xx X X .x xx.x * x.x
a s 7 & 9 10 11 12[ff 14 15 16 17 18 19 fI) 21 22 23 24 25 26 4] 28 29
xxxxx.xAAAAx.xAA xx.xxxAAA.xﬁ:
><xxxx.xAAAAx.xAAﬁcxx.xxxAAA.xﬁc
BAxkxefle Axxxefeaxxxefleaxxxefda A
1 24 5 6 7 8 o)1 12 13 14 15 16 L] 18 19 20 21 22 23 P2J 25 26
[l N < [ b A
t t [l N < [ t N
i 23 4 5 6fElle o 1011 12 13f015 16 17 18 19 20 8} 22 23 24 25 26 27 [F]
A x. .A 7 N .x x.
A x. .A 7N .x x.
i 2 3 45 6fglle o 101 12 13f015 16 17 18 19 20§} 22 23 24 25 26 27 7] 29 30
X . . %K x.x .x
X . . *® x.x .x
1 2 35 6 7 8 o 10fff) 12 13 14 15 16 17[ff] 19 20 21 22 23 24 5] 26 27
] L < [l B
[ ] [ v x|l B ~
il 2 [ 5 6 7 8010 11 12 13 14 15[{f] 17 18 19 20 21 22 [fF] 24 25
.x . xxxxx.xxxxxx.xA
.x . xxxxx.xxxxxx.xA
SHTESA228HE cﬁ

B8, EHBERIIERKRPHEXIEZESHERI TRHANEHEZEN.

TEL 0238 (23) 8510 T3

25

> % 8
> 3 2

27

31

28

26

26

28

29

27

29

30

e4 + =
28 [ 30
X.X
X.X
||
_
_
e + I
30 Kl
A
N
H
_
]
||
_
]
|
_
]
29 [E a1
L
L]

an

an



